YEPBAYHbLIE PEAYKTOPbI B antommHneBOM Kopnyce ﬁ

= BbIBOP PEﬂyKTOPA I Quick Selection BxoaHas ckopocThb (n,) = 1400 min™
BbixoaHas|Mepeaat.Mow-tH/NMepena+ Cepeuc| HomuH.| HomuH. BoamoxHele BosmoxHble OuHamunuec Moaynb
CKOPOCTb | 4ncno | ABura- |BaeMbiil hakTop MOL-Th MOMeHT| MOTOP. onaHubl B5S || moTopHble dinaHubl B14 | i Kno ﬂ
Tens |MomeHT,
r!Z 1 [ P1 MZM fs P1R MZR B c D © P Q R /_\
[min”] b | Nmp P8 IWTINML | g5 79 g0 | 56| 63| 71|80 RD | Mn{mm] Ko nepen.
200 7 0.75 | 29 1.8 1.4 54 82 25 01
140 10 075 41 14 1.1 59 80 24 02
100 14 | 075 | 57 1.1 0.86 | 65 79 2.6 03
78 18 055 51 12 | 0.64 | 59 75 2.0 04
54 26 055 | 67 09 | 0.51| 63 69 2.7 05
39 36 037 | 63 1.1 041 | 69 69 2.1 06
33 43 037 | 72 09 | 0.34 | 65 66 1.8 07
23 60 025 | 59 10 | 0.25| 59 58 1.3 08
21 68 025 | 66 08 | 0.21 | 55 57 1.2 09
175 | 80 | 0.18 53 10 | 018 | 54 54 1.0 10
14 100 | 0.12 41 12 | 014 | 49 50 0.8 11

moTop. ¢ @ B) MocTaensioTcs ¢ NnpocTaBKow B)Ha 3aka3 nocraensitotca Ges npocTasku

:%: C) MonoxeHne oTBEPCTUIN MOTOPHOrO
Motor Flanges Available Supplied with Reduction Bushing Available on Request without reduction bushing Q

dnanua Motor Flange Holes Position

PY Tunopasmep Q50 nocraBnseTca 3anUTblM CUHTETUYECKOW TUMN CMA3KU Q50 O6bem 0.13 Lt.

CMa3Kol Ha BECb CPOK CryXbbl, 06cnyxmBaHne He TpebyeTcs|

OGpaTtuTech B Hally TEXHUYECKYIO CryXBYy N0 MOHTaXXHbIM AGIP KLUBER SHELL MOBIL
nosuuusm V5-Ve. Telium VSF 320| Syntheso D220 EP |  Tivela Ol WB | Glygoyl 30 SHC 630
Cwm. Tabnuuy 1 no TMNam 1 pekomeHayeMbiM o6beMam Ta6. 1

mMacna. B tabnuue 2 ykasaHbl oceBble U pagvanbHble

girgpﬁ:)lj'lﬂgfeﬁab:ggrngQegpy;T:gp:él7| obpaulanTech B Hawly PADMAanbIE W OCEBBIE HAIPY3KU

TEXHUYECKYIO CIYXOy.

BbixogHou Ban n; FA FR
Output shaft min” 1] [N] [N]
200 | 240 1200

EN Unit Q50 is supplied with synthetic oil, providing
“long life” lubrication. For mounting position V5-V6

please contact us. . 150 | 280 1400

See table 1 for lubrication and recommended quantity. Fr 100 | 300 1500

In table 2 please see possible radial loads and axial . g ’

loads on the gearbox. d <= F.mp ;: ggg 1;33
D Far die Lebensdauerschmierung ist das Getriebe der L m A 25 480 | 2500

GroRe Q50 mit synthetischem Ol befillt. 15 560 | 2800

Bei Einbaulage V5 oder V6 bitten wir um Ricksprache.

In Tabelle 1 ist die Schmiermenge und das empfohlene BxonHou Ban

Schmiermittel angegeben. Input shaft

In Tabelle 2 sind die zulassigen Radial - und
Axialbelastungen des Getriebes aufgefiihrt.

n, | FA | FR
min™ 1| [N] | [N]
1400 | 76 | 380

E El reductor tamafio Q50 se suministra, lubricado de
por vida con aceite sintético. Para las posiciones V5 y V6
contactar con nuestro servicio técnico.
Ver tabla 1, para cantidades y aceites recomendados.
En la tabla 2, se encuentran las cargas radiales y axiales
admitidas por el reductor.

*CunbHble oceBble Harpy3ku B HanpasneHuu DX 3anpelueHb!
Strong axial loads in the DX direction are not allowed.

Tab6. 2

* DononHuTenbHaa MH(oOpMaLIMA B Hallen TeXHUYECKON cnyxoe:

| MOMHbBIE TEXHUYECKUE XAPAKTEPVUCTUKMN | @ ATEX ‘] MoHTaxHbIe
w nosnuynn

| NOABOP MO BALLMM TPEBOBAHUNAM

[on. npuxaa- L 3anacHble
TeXHOCTN iL-‘ ' vactn
7

YctaHoBka n
Cepsuc - obcnyxuBaHne

|_. Hanuyve Ha
cknage n
[

[
| CMAS3KA 1 MOHTAXHBIE MOMOXKEHUSA | @%“ B A

h e

2-9



basoBas KOHCTPYKUMA

Mo 3anpocy

PQ50FB... Basic wormbox i: :i BbIXOAHON Barn - 3.25kg
o 1 - 0 CyanuHuTengamu 60
B.bnanubl Aptukyn | oF | A [l Cranaap %L—J i
63B5 | K050.4.041] 138 | 81.5 oF  4oteepctus
71B5 | K050.4.042| 160 | 79.5 -.;-a M8x11 A
80B5 | K050.4.043] 200 | 81.5 in" " %-- <+ <8 .
0] M < N ,_,O,i @ ® %)
56B14 | KC40.4.049] 80 | 81 “I I'“‘ S _ ™% N '
63B14 | K050.4.047| 90 | 83.5 ! ‘|| II 5] 8
71B14 | K050.4.045] 105 | 81 " to) 'lggggf:'“": : 5H8 4H8
80B14 | K050.4.046| 120 | 81.5 -
2.5 ! !43'5 Mounting holes 85 CraHgapt  “Tun S” no 3anpocy
position MycTotensin Ban “Type S” on request
KBagpaTHbIv BbIXO4HOM chrnaHel, Kpyrnbii BbIxogHOM dnaHel,
PQSOFC"' Square flange PQ50F1"' Round flange
60 _—I_ N 81 60
A=A
A i [
8T7 s -
o Tt o =
E ]
alllc,
Q P G Q
110 L
wmnB | gD | E L N O | P |Q apTukyn wmnS | oD L N|O| P | Q apTukyn
FC |70H8| 5| 9 | 90 |49.5| 85 | 125| 11 | KQ50.9.010 F1 [110 H8 10| 89 |48.5/130| 160 | 9.5| KSQ50.9.012
FL |[70H8 91120 |79.5| 85 | 125| 11 | KQ50.9.011 F2 |95H8| 5 14.5 72 |31.5/ 115|140 | 11 | KSQ50.9.013
JNanbi PeakTnBHas wraHra
PasoFB... Feet PasoBR... Reaction arm apT. KQ50.9.027
81 60
70
1 y 14 [
3 : | ©
<t ' |
R (NERN 3 B
S ' s
(e} o]
70 4 43.5
85
120
BxoaHow Ban OAHOCTOPOHHUI [1ByCTOPOHHMI
RQs50FB... | ehat PQ50....8... 5o single shat Paso....D... )
(e O]
- o1
.Q%:J—
SN ofletl]  t2 | |
el f1 el
i
@ apr. K050.5.028 Tvn B @ apt. K050.5.029 Tun B
apt. KS050.5.030 Tun S apt. KS050.5.031 Tun S
od e g | m X apTukyn b1jct| d1 el | f1 | 1 |m1| nl1 | t2 o1
wnB [16h6| 18 | 5 | 30 [79.5|M6x16|9 Koso o000 PV || wnB | 8 | 52|25%% 50.5| 81 | 200 |86.5 146 | 28  M8x20
wnS [14h6| 16 | 5 | 30 |79.5 M5x10| & KS0S0.0008 PAMT1 | | qyns | g | 50 2490 68.8| 81 | 218 | 86.5) 155 27  M8x20

210



